

Some Properties of a Pure Jump Markov Chain after a Cut*

Lin Yuanlie (林元烈)

(Tsinghua University)

Let $X = \{X_t(\omega), t \geq 0\}$ be a pure jump Markov chain with minimal state space $I = \{0, 1, 2, \dots\}$ on a probability triple (Ω, F, P) . The sample function $X(\cdot, \omega)$ is right lower semi-continuous. We denote the transition matrix by $p(t) = (p_{ij}(t))$ and Q -matrix by $Q = (q_{ij}) = (p'_{ij}(0))$, $i, j \in I$, where $0 \leq \sum_{j \neq i} q_{ij} = -q_{ii} = q_i < \infty$. In this paper let $q_i \neq 0$ and, without loss of generality, $p(X_0(\omega) = i) = 1$. We define

$$\begin{aligned} \tau_{i0}(\omega) &= 0, \\ \tau_{in}(\omega) &= \inf\{t: t > \tau_{i, n-1}(\omega), X(t, \omega) \neq X(\tau_{i, n-1}, \omega)\}, \\ \theta_{in}(\omega) &= \tau_{i, n+1}(\omega) - \tau_{in}(\omega), \\ \tau_{in}(\omega) &= \tau_{i1}(\omega) + \tau_{i, n-1}(\omega), \\ N_{it}(\omega) &= \sup\{n: \tau_{in}(\omega) \leq t\} \text{ for } t \geq 0, \\ \pi_{ij} &= q_{ij}/q_i \quad i \neq j, \quad \pi_{ii} = 0, \\ W_{it}(\omega) &= \tau_{i, N_{it}(\omega)+1}(\omega) - t, \\ V_{it}(\omega) &= t - \tau_{i, N_{it}(\omega)}(\omega), \\ \theta_{i, N_{it}(\omega)}(\omega) &= \tau_{i, N_{it}(\omega)+1}(\omega) - \tau_{i, N_{it}(\omega)}(\omega), \\ G_{in}(x) &= p_i(\tau_{in}(\omega) \leq x). \end{aligned}$$

We have the following results:

Theorem 1 Let $F_{it}(x) = P_i(W_{it}(\omega) \leq x)$; Then for $x \geq 0$, we have

$$F_{it}(x) = e^{-q_i t} (1 - e^{-q_i x}) + q_i e^{-q_i t} \sum_{j \neq i} \pi_{ij} \int_0^t F_{ju}(x) e^{q_i u} du \quad (1)$$

Proof If $x < 0$, clearly, $F_{it}(x) = 0$. If $x \geq 0$, then

$$\begin{aligned} F_{it}(x) &= \sum_{k=0}^{\infty} P_i(\tau_{i, k+1} - t \leq x, \tau_{ik} \leq t < \tau_{i, k+1}, \\ &= P_i(t < \tau_{i1} \leq t+x) + \sum_{k=1}^{\infty} \sum_{j \neq i} P_i(X(\tau_{i1}) = j) P_i(\tau_{ik} \leq t \\ &\quad < \tau_{i, k+1} \leq t+x | X(\tau_{i1}) = j). \end{aligned}$$

*Received Dec. 29, 1981.

It follows from theorem 5 of [1; p. 148] that

$$G_{i1}(x) = 1 - e^{-q_1 x}, \quad x \geq 0,$$

and from theorem 3 of [1; p. 171] that τ_{i_k} and $\tau_{i_{k-1}}$ ($k > 1$) are independent (relative to P_i) with respect to $X(\tau_{i_k}) = j$. Hence we obtain

$$\begin{aligned} P_i(\tau_{i_k} \leq t < \tau_{i_{k+1}} \leq t+x | X(\tau_{i_k}) = j) \\ &= P_i(\tau_{i_k} + \tau_{i_{k-1}} \leq t < \tau_{i_k} + \tau_{i_{k-1}} \leq t+x | X(\tau_{i_k}) = j) \\ &= \int_0^t p_i(\tau_{i_{k-1}} \leq t-u < \tau_{i_k} \leq t-u+x | X(\tau_{i_k}) = j, \tau_{i_k} = u) dG_{i_k}(u) \\ &= \int_0^t p_j(\tau_{i_{k-1}} \leq t-u < \tau_{i_k} \leq t-u+x) dG_{i_k}(u). \end{aligned}$$

Thus

$$\begin{aligned} F_{i,t}(x) &= e^{-q_1 t} (1 - e^{-q_1 x}) + \sum_{k=1}^{\infty} \sum_{j \neq i} \pi_{i,j} \int_0^t p_j(\tau_{i_{k-1}} \leq t-u < \tau_{i_k} \leq t-u+x) dG_{i_k}(u) \\ &= e^{-q_1 t} (1 - e^{-q_1 x}) + \sum_{j \neq i} \pi_{i,j} \int_0^t F_{j,t-u}(x) dG_{i_k}(u) \\ &= e^{-q_1 t} (1 - e^{-q_1 x}) + q_1 e^{-q_1 t} \sum_{j \neq i} \pi_{i,j} \int_0^t F_{j,u}(x) e^{q_1 u} du. \end{aligned}$$

Theorem 2 Let $J_{i,t}(x) = P_i(V_{i,t}(\omega) \leq x)$. Then for $x \geq 0$, we have

$$J_{i,t}(x) = \begin{cases} q_1 e^{-q_1 t} \sum_{j \neq i} \pi_{i,j} \int_0^x J_{j,u}(x) e^{q_1 u} du, & \text{if } 0 \leq x < t \\ 1 & \text{if } x \geq t \end{cases} \quad (2)$$

Theorem 3 Let $F_{i,t}(w, v) = P_i(W_{i,t}(\omega) \leq w, V_{i,t}(\omega) \leq v)$. Then for $w \geq 0$ and $v \geq 0$, we have

$$F_{i,t}(w, v) = \begin{cases} q_1 e^{-q_1 t} \sum_{j \neq i} \pi_{i,j} \int_0^v F_{j,u}(w, v) e^{q_1 u} du, & \text{if } 0 \leq w \text{ and } 0 \leq v < t \\ e^{-q_1 t} (1 - e^{-q_1 w}) + q_1 e^{-q_1 t} \sum_{j \neq i} \pi_{i,j} \int_0^t F_{j,u}(w, v) e^{q_1 u} du & \text{if } 0 \leq w \text{ and } t \leq v. \end{cases} \quad (3)$$

Theorem 4 Let $H_{i,t}(x) = P_i(\theta_{iN_t(\omega)}(\omega) \leq x)$. Then for $x \geq 0$, we have

$$H_{i,t}(x) = \begin{cases} q_1 e^{-q_1 t} \sum_{j \neq i} \pi_{i,j} \int_0^t H_{j,u}(x) e^{q_1 u} du & \text{if } 0 \leq x < t \\ (e^{-q_1 t} - e^{-q_1 x}) + q_1 e^{-q_1 t} \sum_{j \neq i} \pi_{i,j} \int_0^t H_{j,u}(x) e^{q_1 u} du & \text{if } t \leq x. \end{cases} \quad (4)$$

Let I be a recurrent class. We define $a_{ii}^{(0)}(\omega) = 0$,

$$\begin{aligned} \rho_i^{(1)}(\omega) &= \inf\{t; t > 0, X(t, \omega) \neq i\}, \quad a_{ij}^{(1)}(\omega) = \inf\{t; t > \rho_i^{(1)}, X(t, \omega) = j\}, \\ \rho_i^{(n)}(\omega) &= \inf\{t; t > 0, X\left(\sum_{k=0}^{n-1} a_{ii}^{(k)} + t, \omega\right) \neq i\}, \quad n \geq 1 \\ a_{ii}^{(n)}(\omega) &= \inf\{t; t > \rho_i^{(n)}, X\left(\sum_{k=0}^{n-1} a_{ii}^{(k)} + t, \omega\right) = j\}, \quad n \geq 1 \end{aligned}$$

$$\begin{aligned}
S_{i,n}(\omega) &= \sum_{k=0}^n a_{i,i}^{(k)}(\omega), \quad \tilde{N}_{i,t}(\omega) = \sup\{n: S_{i,n} \leq t\}, \quad \tilde{W}_{i,t}(\omega) = S_{i,\tilde{N}_{i,t}(\omega)+1}(\omega) - t, \\
\tilde{V}_{i,t}(\omega) &= t - S_{i,\tilde{N}_{i,t}(\omega)}(\omega), \quad \tilde{\theta}_{i,\tilde{N}_{i,t}(\omega)}(\omega) = S_{i,\tilde{N}_{i,t}(\omega)+1}(\omega) - S_{i,\tilde{N}_{i,t}(\omega)}(\omega), \\
R_i(x) &= P_i(a_{i,i}^{(1)}(\omega) \leq x).
\end{aligned}$$

Theorem 5 Let $\tilde{F}_{i,t}(x) = P_i(\tilde{W}_{i,t}(\omega) \leq x)$. Then for $x \geq 0$,

$$\tilde{F}_{i,t}(x) = R_i(x+t) - R_i(t) + \int_0^t \tilde{F}_{i,u}(x) R_i'(t-u) du. \quad (5)$$

Theorem 6 Let $\tilde{J}_{i,t}(x) = P_i(\tilde{V}_{i,t}(\omega) \leq x)$. Then for $x \geq 0$,

$$\tilde{J}_{i,t}(x) = \begin{cases} \int_0^x \tilde{J}_{i,u}(x) R_i'(t-u) du & \text{if } 0 \leq x < t \\ 1 & \text{if } x \geq t, \end{cases} \quad (6)$$

Theorem 7 Let $\tilde{F}_{i,t}(w, v) = P_i(\tilde{W}_{i,t}(\omega) \leq w, \tilde{V}_{i,t}(\omega) \leq v)$. Then for $w \geq 0$ and $v \geq 0$.

$$\tilde{F}_{i,t}(w, v) = \begin{cases} \int_0^v \tilde{F}_{i,u}(w, v) R_i'(t-u) du, & \text{if } 0 \leq w \text{ and } 0 \leq v < t \\ R_i(t+w) - R_i(t) + \int_0^t \tilde{F}_{i,u}(w, v) R_i'(t-u) du, & \text{if } 0 \leq w \text{ and } v \geq t. \end{cases} \quad (7)$$

Theorem 8 Let $\tilde{H}_{i,t}(x) = P_i(\tilde{\theta}_{i,\tilde{N}_{i,t}(\omega)}(\omega) \leq x)$. Then for $x \geq 0$

$$\tilde{H}_{i,t}(x) = \begin{cases} \int_0^t \tilde{H}_{i,u}(x) R_i'(t-u) du & \text{if } 0 \leq x < t \\ R_i(x) - R_i(t) + \int_0^t \tilde{H}_{i,u}(x) R_i'(t-u) du & \text{if } x \geq t. \end{cases} \quad (8)$$

Proof of theorems 2 through 8 and other results will appear elsewhere;

The author is grateful to Dong Zeqing for his kind advice and helpful guidance.

References

- [1] Chung, K. L., Markov Chains with Stationary Transition Probability, Berlin, 1960.
- [2] Chung, K. L., The Poisson as a renewal processes, *Periodice Mathematica Hungar*, 2 (1972), 41—48.
- [3] 吴荣, 一类剩余时间的分布, *数学学报*, 24; 4 (1981), 494—503.
- [4] Dong Zeqing and Lin Yuanlie, The Characters of Stationary non-after-effect Stream and its Applications (to appear).
- [5] Feller, W., An Introduction to Probability Theory and its Applications. Vol. 2, 1970.